


2x2-x-159 ¢

o =
=R

=

® x+3

@ x-3

D 2x+5

® 2x+3

@ 2x-5



1502 — 1492 = 150 + 149 & A Y3s I
= r o0 Qo ol =
J__’—E—?j() = = OO]—I_ E] E—Q—J_— ?_]—/,\—»E—oﬁ 'f)_/;!"%

® a* +2ab+ b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a®-b? = (a+b)(a-b)
@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



A
al

® x-2

@ x-4

@ x+2 ® x+4

® x+1



5.

x+30°lx*—x+a® Ard W, a2 H27

® -12 @ -6 ® -3 @ 4

® 12



6. (x+5)?%-2(x+5)E As-EdfctH?

@ (x+3)(x-5) @ (x-3)(x+5) ® (x-6)(x+3)
@ (x+3)(x+5) ® (x-6)(x+5)






8.

8x2-10x+3 &
Fstoier.

n

D
=%



9. 1082 +ax-6=(2x-b)6x+2) 2 A+ B2 W, a+b ] S
51 ?

@ -11 @ 11 ® -14 @ 14 ® -8



10.

2x2 +ax+b
7

® -5



